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 פתרונות מוקלטים לשאלות מבחינות     פתרונות כתובים לבחינות

 

 הסתברות וסטטיסטיקה/  פתרון תרגיל 12
 שלומי

 שאלה 1

 . כאן צפו בפתרון מוקלט

 

 

 2שאלה 

 . כאן צפו בפתרון מוקלט

 

 3שאלה 

 . כאן צפו בפתרון מוקלט
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http://www.shlomir.com/courses8/course1115/pr_sta_exams/exams5.html
http://www.shlomiru.com/courses8/course1115/recordings/rec.html
http://www.shlomiru.com/
https://www.youtube.com/watch?v=yYULstSgqRQ
https://www.youtube.com/watch?v=e4OuBgn0Fv4
https://www.youtube.com/watch?v=-duh3fbR5H0

